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Exercise 8.4
4. Choose the correct option. Justify your choice.

(i) 9sec2A-9tanZ A = ..cccucevesnnns

(a)1 (b)9 (c)8 (d)o
(ii) (1 +tan © +secO) (1 + cot O —cosecO) =
(@)o (b)1 (c) 2 (d)-1
(iii) (sec A+ tan A) (1 -sin A) = ..ccversenserns
(a) secA (b) sin A (c) cosec A (d) cos A
1+tan® A
v i
1+cot“A
(a) sec?A (b) -1 (c) cot?A (d) tan?A

Sol. (i) Since, 9 sec2A-9 tanz A
=9 (sec2 A-tanz A)
=9 (1) [“tan2 A+ 1=sec2A=secZA-tanzA =1]
=9
~ The option (b) is correct.

(ii) Here, (1 + tan 0 + sec 0) (1 +cot0 — cosec 0)

=f1+tanB+secB][1+L— COSECB]
tan8

={1+tanﬂ+secﬂ]|:
tan®@

tan® + 1-tanﬂ.cusece]

_ (1+tane +secs)[tan6 +1-sece]
tange

sinEx 1 1
cos® sin8 cosé

[ tanB.cosech = =sec B]

_ (1~|rt51|nt-:|}2 _sec?e B 1+tane +2tane —sec?o
tang tane

1+ 2tang —(secz a8 —tanzﬂ} 1+2tan6-1 2tané

tane tan®g tan®
-. The option (c) is comrect.
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(iii) We have:
(sec A+ tan A) (1 —sin A)

=[ 1_,3mA ]{1-sinA}

cosA cosA

=(‘I+ EIHA)('l—SiI'IA] _ (1+sinA)(1-sinA)
cos A cos A

1 —sin’ A B cos” A
cosA  cosA

=cosA

- The option (d) is correct.

[--1—sin?A = cos?A]

1+tanZ A _ 1+tan’ A

1+ cot2A 1+ 1
tan® A

(iv) Here,

_ 1+tanZ A ] (1+ i A) (tan2 A)
tan? A +1 (1+tan2A)
tanZ A
= tanZA
. The option (d) is correct.




